the repetition of the verb includes after “it” in
line 9 are other clues that capital is the referent.

. D See Rv'6

The correct answer (D) is found in lines 7-8,
where capital is described . . . such as machines,
vehicles, and buildings . . .. (A) is a building, (B)
is a vehicle. (C) is found in line 9 which states
But it also includes the funds, where it is capital.
The only choice not mentioned is (D) workers,
which is the correct answer.

. A SeeRv2

The meaning of the word “funds” in line 9 can
be deduced by knowing that part of what
capital includes is tools, which are listed in lines
7 and 8 as machines, vehicles, and buildings. In
addition, capital includes “funds” (line 9),
which are different from tools. Answer choice
(A) money is the correct meaning of funds.

. B See Rv2

In the context of this passage, the phrase put
aside is related to an economic concept. In this
context, answer choice (B) saved is correct.

. D See Rv/6

The correct answer is found in line 13 This
process of capital accumulation . . . . where this
process refers to the preceding lines 11-12 But if
a farmer can grow more corn than his family
needs to eat, he can use the surplus as seed to
increase the next crop. (A), (B), and (C) do not
result in accumulating capital.

. C  SeeRv2

The correct answer (C) is found in lines 14-15
Saving played an important role in the European
tradition. Something that people are
accustomed to plays an important role. (A), (B),
and (D) are not mentioned in the passage as
things that the European ancestors of early
Americans did.

. C  SeeRvwob

The correct answer (C) is found in the last
paragraph. The first line states, The great bulk of
the accumulated wealth of America ... was derived
either directly or indirectly from trade. The last line
states, As colonial production rose and trade
expanded, a business community emerged in the
colonies, linking the provinces by lines of trade and
identity of interest. Answer (A) is not mentioned
in the passage as a cause of the emergence of a
business class; answers (C) and (D) are not
discussed in the passage.

- A SeeRv3

The correct answer (A) is the most general of
the choices and includes the topics of the three
paragraphs in the passage. (B), (C), and (D) are
too specific and are mentioned as details in
the passage. ’

- C  SeeRvb

The correct answer (C) is found in lines 8-9
Sometimes it's hard to figure out if you have a food
allergy, since it can show up so many different

43.

45.

46.

48.

49.

50.

ways. It can show up so many different ways is
similar in meaning to the similarity of symptoms
of the allergy to other problems. (A), (B), and (D)
are not true according to the passage.

A SeeRv?2

Clues to the meaning of “symptoms” are the
phrases show up so many different ways (lines
8-9) and other problems (line 9), followed by a
list of afflictions that may indicate food allergies
rashes, hives, joint pains, mimicking arthritis,
headachies, irritability, or depression.44. D

See Rv2

The organization of the paragraph is a clue to
the meaning of “set off.” The passive sentence
(lines 14-15) indicates that certain foods set off
migraines (the first step in the process of getting
migraines) and is followed in the last sentence in
the paragraph by Some people have been successful
in treating their migraines . . ., (a stage after the
migraine is in progress). In this context “set off”
means to trigger or to quickly put into action.

B SeeRv7

The correct answer (B) is found in lines 13-14.
The passage states that . . . if these foods are not
fed to an infant until her or his intestines mature at
around seven months, which is similar in
meaning to have a carefully restricted diet as
infants. (A), (C), and (D) are not true according
to the passage.

A SeeRv2

A clue to the meaning of “hyperactive” is to
analyze the parts of the word. Hyper means
more than usual. The correct answer choice is
(A) overly active47. C See Rv/6

The correct answer {C) is found in line 13. The
clause until her or his intestines mature .. .is -
similar in meaning to underdeveloped intestinal
tract. The other choices are not true according
to the passage.

D - SeeRv'5

The pronoun “these” in the phrase “a few of
these” refers to the noun phrase that preceeds
the pronoun, foods high in salicylates. The foods
listed (almonds, green peppers, peaches, tea, and
grapes) do not include unnatural foods with
additives or colorings. -

D SeeRv6

The correct answer (D) is found in lines 18-20.
The other answer choices are not mentioned in
the passage as a treatment for migraines.

A SeeRv6

The correct answer (A) is found in lines 24-25.
Other researchers have had mixed results when
testing whether the diet is effective is similar in
meaning to NOT verified by researchers as being
consistently effective. (B), (C), and (D) are true
for the Feingold diet according to lines 20-24.
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